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Exercise 1 %EUD&(JML\_C X E %n;bé'#_t(/fck’B

Repeat each sentence after your tutor

=D S FLWZWTA D

A BEE, EEEESENTLESRE (AR 1 ATT).

_y DEL  FXR  BLEL . .
B I oe5 #h DriniETZE (HITFDK / HIFFIT LK),

A FFRERCESTOST (HBL  HET).

ey
B IAABELT (B3 / HIFEd ),

A ZDFH LW, ESUE (D] ATITH) ?

B MREANRE (W | ATT).

ATEBE. £<BC Born/ AnELER).

A XK i@@cgﬁt’?@h ENZ (Brofz / BrLFEUR).
nrz

B ZNH5. B OBWICREEST (KNAL / <NERBAD) ?

) W5 L&< Z

ASHDOS B ERE (2R TIR).

sy &0 &) .
B & ki cANSHRZIZSSAESDE (AIE 1 ATY).

A BB C—F 1 —(C1F< (D | ATTH) ?

_— E R LES
B (BA / [FW). ZHSAICEB F LT (B52k / EB5WLWEULR).
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Exercise 2 ZZRAZIEH T, TE(OREZLLD

Fill in the blanks and respond to your tutor
By & (=51 AN o

(=) @qﬂ(Lm%b\azZaiﬁA(ztEbmﬂ/ (L z‘c<7“ém

Modify (word = ) in place and answer him or her if any.

=D D FLWZWTA D

A WEE, #EEEsEnCLEo R (WIE 1 ATY).

—' FX FLZL
B &h\oTe5 Fh ORIDES % / o

A FTREBICESTOST (BBL ) HET).

BV e Y . .
B A (BI—) (BIFBL | BIFETL).
A TOH LWER, ESUE (@1 ATIHY) ?
ey ‘
B & =AD (h2 | ATY).
Lw< 2L ES » »
ATEE. L<HIC Bormn BnELER).
‘_' T oFr
B HARHD (FE5-) <N (W2 1 AT,
A X EBoHER. FELNRL (Brok / BrnELE).
‘_' nreEL :En\: D D %) _
B ZTNR5S. A DELWIIC ((fEES—) (<NRLY 7 <NFEEAHDY) ?
ASEDY B EEE (2R TIR).
‘_' ERD be.'._l./_\ “
B B ANSHEEEEA (A2 | ATY).

A BRI C—F 1 —(C1F< (D ] ATTH) ?

— E R L&D 2
B (DA / EW). ZHSAIC (B F33) (B5of2 1 BBWLWEULE),
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Exercise 3 _FOD.:%%ED T, ZBECESEZULELD

Respond to your tutor with the following word(s)

=D S FTWEWTA D

A VFH, HEEEMENTLESE (AR / ATT).
iy

A FFIERCESTUST (B3L  HET).
nay”

A ZDFH LW, ESUE (D ATTH) ?
ayr

ATEE. L<HIC Born/ 2nELER).

. 4
5L LS (CBLDS O J:‘S_b_: >
A &8 oBHEH ENZEL (Byofz / BrULWEUE).
Sy
E&5 WS ULs< S5 P .
A SHD F=EE (R / TINR).
ey

A BEIZC—F 1 —(CHF< (D | ATTH) ?
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